Inverse Sine and InVerse Cosine ‘ :
NO\&S Yo o

Solving Trigonometric Equations — The Easy Version

Inverse Sine:

y = sin™1(x) and y = arcsin(x)

Example 1: Solve for
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Inverse Cosine:

y = cos™1(x) and y = arccos(x)

Example 2: Solve for 6
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Inverse Sine and Inverse Cosine

Find the exact value of each expression without using a
calculator: Write your answers in degrees.
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Find the exact value of each expression without usinga
calculator: Write your answers in radians.
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Inverse Sine and Inverse Cosine

What about cosecant secant and cotangent?
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Inverse Sine and Inverse Cosine

What about tangent?
First....
a) Find tan(30°):
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b) Find tan(60°):
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Let’s try: Answer in Degrees AND Radians
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Honors Pre-Calculus | Name
Inverse Trig Functions - Homework /
Find the exact value of each expression - use RADIANS!
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